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| Team 7 Specification Review
Stage 1000 Planning — 1002 . Create Preliminary Investigation Report

2. Project Justification
1) Cost : AlCH @|o| Ct2 B|8O| Wasix| o o2 chotect [am]
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Stage 1000 #6 page.

5. Market Analysis
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| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases
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| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases

R.2.1

Start Timer

Evident

- Efolof XE7|5
- MAHE UORTE HRO2 A|ZHO| BE

- ZDHE AIZHE IE"~|’35H-:'|‘=--T'-,|3‘<|’FJ1';_I EJ-"F'F_FE e

1003 Define Requirement

1.3 Start Timer(R.2.1)

Use Case 3.Start Timer

Actors User

Purpose User/ EIO|H & SEDHCY,

Overview User?} EtO|DHS| A|ZHES S22 Bic}
Type Evident

Cross Reference

Function : R.2.2, R10.0
Use Case : “Stop Timer", “"Alarm"

Pre-Requisites

Timer AlZH % 2t e Usere| EHIE 7|5 2%

Typical Courses of
Events

(A) : Actor, (S) : System

1. (A) EfOID] S2E QFpict

2. (S) EtO|H A7t Yoz SE2H $ir}

3. (S) Eto| AlZto] po| =[P e S2Ict
4. (S) Eto|tf AJZto] oz S22 Bho)

Alternative Courses
of Events

Exceptional Courses
of Events

E1. EtO|B{Z} O[D| &= <EfO|B SEE YEC)
E4. EIOID7t o2 SEE MEfOAM 59§ 59+ O|F0| SECHH oFo=

« 2031 Define Use Cases
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| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases

3. (5) Efo|of AlZto] 00| &/B AZE BEICH |
|User?t AE XISl MH™E AlZHE 022 X7|3}stCt, |
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| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases
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Use Case 12.Set Number Range

Actors User

Purpose UserZl o At B/E 280
Overview User/t tH+=5 48g At 8IS E8strt
Type Evident

Cross Reference

Function : R5.1
Use Case : "Generate Number Range”

Pre-Requisites

G5 ol B o0l MH), 2HE /|5 895

Typical Courses of
Events

(A) : Actor, (S) : System
1. (A) <At el ¢dE 2F3iL

2. (S) A2} 14 ZHZICH

Alternative Courses

of Events




| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases

1.16| Change Mode Display|R.7.0)

Use Case 16.Change Mode
Actors User
Purpose User?t ZEE BZESIC}
UserZ} AlZh EfO, AEFQIX|, 28, O{™A| AlZh H 48 & d™E
i - EH:|7 7 d H ' ' r r '
R.7.0 Change Mode Evident |- ZEBA 7|5 Overview X2 4Bt D2 HASICH
Type Evident

Function : R.8.0

Cross Reference
Use Case : "Set Mode”

Pre-Requisites User®| ZHIE 7|5 27F

(A) : Actor, (S) : System
Typical Courses of | 1. (A) 2E2| HIAS Q¥sict
Events 2.(S) 2HO| S ez HFEEICH

Alternative Courses
of Events

Exceptional Courses

> Use case nameO| CI2



1.17 Set Mode(R.8.0)

Use Case 17.5et Mode

Actors User

Purpose User?t 47tX| REE HH3CH

Overview User?t AlZH EROOf, AEMRIX|, 2, Of#X] AlZh e+ 8 & 47tXE M
Ef5to] RE BiZoR MEHO| Jhsste g HFTICL

Type Evident
Function : R.7.0

Cross Reference

Use Case : “Change Mode Display”

Pre-Requisites

User®| EHIE 7|5 2

Typical Courses of
Events

(A) : Actor, (S) : System

HE ME Jl5E a¥sich
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steo] MEf Jhset BEE RO|FEC]
M BT REE Meisic)
MEfEl RESS XMEBCL

ime Keeping 2O 2 P EICE

m?“:“P‘E"PS“!‘J.—‘

S

Alternative Courses
of Events

B BEE WEiSH: =F0| QAMER ZE HElZ ZREY = UACHL BE A
HE MEBER| §fn BRI Z|E0| MEE REFO| A2 HFECt
357 M bt REOM DE HAE QY OS5 MY JtsT BEE
ROECH

E3,57. REo| MENX|o| OIX|YOIM ZE BIAS QHSIH A e U& 745
DEE HO|ECL

Exceptional Courses
of Events

| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases

» Set Mode 7|5 A}A| 7}
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| Team 7 Specification Review
Stage 2030 Analysis — 2031. Define Use Cases

1.19 Alarm(R.10.0)

Use Case 19. Alarm

Actors System

Purpose SystemO| UserOf M| ¥& &S =2{=Ct

Overview SystemO| User?} Zf&¢h Z1to] H0{ L0 88 HET UHI’l‘ AL Y
E8 78 [ ¥EUE SHFCL

Type Hidden

Cross Reference

Function : R.1.0, R2.1, R4.0, R4.1, R4.3
Use Case : "Set time”, "Start Timer", "Activate/Deactivate Alarm”, “Turn Off
Alarm”, "Set Alarm"

Pre-Requisites

L0l 28 TAUO| HFE .

Typical Courses of
Events

(A) : Actor, (S) : System
1. (S) System 0| E2{0Fd YEe}t S YLEE Bl uTHCl
2. (S) System O| H|mst HE7t LX|S}H UsertH LS S2{FCL.

Alternative Courses
of Events

E2. EtO|Df, LEAIZEe| LEel HL X[CH 10MMA] 2|25 SFC.

Exceptional Courses

of Events
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| Team 7 Specification Review

Stage 2030 Analysis - Stage 2032 Use Case Diagrams

il N

Traveler Watch System

> DiagramOi| M User7t 2P = HH
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| Team 7 Specification Review
Stage 2030 Analysis - Stage 2033 Domain Model

<<Business Object >>
Display

system: System

refer 1o
> <<Business Object >> <<Business Object >>
Watch System A O —I
h has
S s » Model User2| named
time: Integer
1 1 1 J—
L]
nas ~ nas _jObol ToM olF
— E O —] 1
<<Business Object >>
Destination Z<Business Object >> <<Business Object >> <<Business Object >>
Time Alarm Button
time difference: Integer
clty tine: integer time: Integer state: Boolean @ | | pushed Boolean
date Integer time Integer
day of week: String




| Team 7 Specification Review
Stage 2030 Analysis - Stage 2035. Domain System Sequence Diagrams

1.17 Set Mode(R.8.0)

17. Use Case : Set Mode

Use Case 17.Set Mode
Actors User e L
Purpose User?} 47}X] BREE HHBICE 1. AF2 X2 button® SECH Actor System
= =
Ovarviaw User?t AlZh EFOID, ARTRIA], &, Of@X] AlZh B 449 5 47158 2. AFRXI7} buttonS =3 MEE RCE HAS
gsto] IC HPS R HEO| IHSIEE HHECH = Shrl
Type Evident =5 a¥d " enterSettingModes() ———
i : A H MEHE CE =
Cross Reference Function : R7.0 3. Al=H0l dEE REE AFSECL — changeModeSelectable(button) —+
Use Case : Change Mode Display” 4. AFEAIZL STt R =2 MEdsic
Pre-Requisites User®] ZHIE 7|5 94F ce = - modeSelectableNext()
(A) : Actor, (5) : System 5 AI~"0| e 2= HEEICh selectMode(button) ——»
1(4) BE 48 JlsE ayuc, 6. ALBXI7} butong =3 MY DCB wEs| | s s N
2. (5) 8010] Mef 7h5Y BCE HOjEC)H EE [¥sC
3 (a) & WA REE Mesich I ;,:éiol_ ):E“g; ca - — changeModeSelectable(button) —
) 4. (S) BtBi0] MEY 7h5% REE RojEC) 7. A|AHI0| Meigt & #FYEL | L modeSelectableNext()-----------
lyplca\ Courses of s (A) S R RER Meiic) 8. AFEAIZL i K=& MdEsic) selectMode(button) ———»
vents 6. (5) &HBI0| MeY 7ps53 BEE moiEC) 9. Al2"0| eig REE MESCE | e modeSave() ----w-ed
7(A) Ml SR REE dEsich 10. AH8X7}F buttons S22 HEE 2CE #H — changeModeSelectable(button) —»
8 (5) WEHE RESE Xﬁﬁ‘_ Cf E2 QA
oot iel-s s=® ayct i O ——
1. A|2H0| d=g REZ HAS|ELD seleciModa(button) ———»
. BCE HEss =50 JHEX RE MEES FEY + UCL BE A 12. AFEXIZL SiE R EE MESE 0000 | b modeSave() --------m---eeeo
g WX @R Z=sH 7|20 dME BES0] Q0j2 HHECL 13, A|AH0| ST REE FESICH - exitSettinghode(]--—|
Alternative Courses | E3,57. d& 7153t REO|A 2E HEL X0 g MY Jt53 REE - -
- 14, A|2H0| AZHE BAIFECL
of Events M=KvESa]
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| Team 7 Specification Review
Stage 2040 — 2042. Define Reports, Ul, and Storyboards

D DATE

12,220,100
» H=2| O|F0| LI2tRUX| B50¢

ALEA| Of 2 =&




| Team 7 Specification Review
Stage 2040 — 2044. interaction Diagrams

heactwateAlann(button]
_— Ry

activateAlam() i

ey

[ alamindex==0 &4 alarm0Activated]
setAlarm00n

alamOActivaled

..............

> Deactivated E&£ 9]

response”| S¢X|
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Lo O
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Stage 2050 Implementation ~
Stage 2060
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| Team 8 Specification Review
Stage 1000 Planning

Activity 1003. Define Requirements
2. Performance Requirements
- et HEARD 7S YUHH0|AS MESOoF Bt

- H|EZ27t= AgStZ| S OF Bt

> O+ 2= EOF O[3k 7t &l Ct.

> ZF HHEQ| 0|&£0| 2 HES| 7|2 EYdl|FX| Z=LCt
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| Team 8 Specification Review
Stage 1000 Planning

Activity 1008. Define Business Concept Models

me[g ul ZHHSE JFOid MEe 7t

HAG Ead 2R

> Sl Business Concept ModelO| A|AHEIO| BFA |0 QUX| Q4L

> Timer, Alarm, Stopwatch, Moonphase 0| &|0{OF StLCF,
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| Team 8 Specification Review

Stage 2030 Analysis

Activity 2031. Define Essential Use Case
Use case 2. adjustTime

Typical Courses of Events

(A): Actor / (S) : System
1_ (A)HEE 53 A7t =5 =2 "i#c)
2. (S) TimeDBO|M ZI7{2 S AlZH& 2HHo]

EE[AIEH@" U FEO| ZH 7St HEiYHE EAIBCL

3. (A) MBI HEE[ D CHE HEE £
4 (S) T =HEHIs4EE 82 dHEC
5. (A) M ERI7} HE T IO HEE 5
6. (S) M =TIl s4eE 22 dHECL
7.(A) A EA7 UE[FHE DO HEE £
8.(S) Al =HIsEHE A2 v HEC
9. (A) AHE A7} AE =TI CE HEE F8
10. (S) €M =E7Is¢ElE 222 vt ED
1. (A) ALE X7 B[ T8 0 4HE Sa 8t
12 (S) 8 022 Z 7|8t}
13. (S) ZHE AIZHE TimeDBOl| HE&HC} o] I, ==
o0 2 &7|8t&tc)

> 3,5,

7.9 11HO|A
HFEE A I-i'/Q'J/ /*I/—Er%
T=MOHA| S
[l HEZS F2H
T=™d7tsaEf 7}

HFH O] OF SHL},
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| Team 8 Specification Review
Stage 2030 Analysis

> O| ™0

Activity 2031. Define Essential Use Case
Use case 4. setTimer

Typical Courses of Events

(A) Actor / (S) System

1. (A) HE S 52 Etoln] A4 b AE|2 HHECH
2. (S) EiDID-IﬂlIJrI|ﬂIE0|I e Elo|He| AlZHE
i
3.(S) ©HAl EtOo|H7I SE S deE E2 EOIHE
LAIEX] AlZict

4. (S)EM =EIsdElE AME EASEC

5. (A) AHEAI7 HEE 521 AIE EFET

6. (S) HM =HIISHEIE 222 HREd

T.(A) AHERII HEE 0 28 d-Eo

8. (S) ©A =HIISHEE =2 "N EC

9. (A) AHERI 7} HEE =2 =8 "7 1 g3 & nt&ld
10.(S) ZEHE AlZHE XE )

298t EfO[HO| A[ZHO] Gl= M, O{Het M2|S sdst=X]| Lt

AKX

| &
LS

Ct.
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| Team 8 Specification Review
Stage 2030 Analysis

Activity 2031. Define Essential Use Case

Use case 11. addAlarm

Exceptional Courses of Events | E2. R & 0| &7 7M=& &ef7t of'd E=(4747 ot
| AT E A ol HIAXIS S=Stc)

H A% & S8t

E6. 22 2, &2 AlZe gdEol dEE Z< ol
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| Team 8 Specification Review

Stage 2030 Analysis

Activity 2031.
Define Essential Use Case
Use case 25. modeSelect

TimeKeeping

ADJUST

[V] checked

RESET

TimeKeeping

> B H{E -> START HE
> [t HE -> MODE H =
> 22l HE -> ADJUST HE

Typical Courses of Events

{A): Actor [ (S) : System

1.(A) User?} HE & =021 mode select2 TILIEHCH

2.(S) mode select 4% 2tHE E A8

3.(A) User7t [ME] HHE & =2 TimeKeeping 2= &
et M= = ot

4 (A) User7} CIE HE& =21 Timer 2E2 8t E

= ZICtH

5.(A) User7H M= HEE S Timer 2= &
=3 L =] A ECE.

6.(A) User7HCI& HHE|E S2] Alarm 2= 2 8}E
=rd]=

7.(A) UserZ} # = Alarm 2E &
M=t =] SHAIECE.

8.(A) User7} =2 Stopwatch2 =2 S}ME
= ZICtH

9.(A) User?H M= HHE[E =2 Stopwatch 2EE
et M= s &I St

10.(A) User?} & =2 Tide 2EZ 8lHE
=kd]=

11.(A) User7} M HE|E =& Tide RE& Meis AL
M sA B

12.(A) User?{{C}& HE& =& Moonphase ZE2
2tHE gl

13.(A) User7}

et M= & St
14.(A) User7}H 2ol HE]E =@ MEs ghastc).
15.(S) 2= K58 I LIS 25

=01 Moonphase 258




| Team 8 Specification Review
Stage 2030 Analysis

Activity 2035.
Define System Sequence Diagrams

.. delete alarm
Activity 2031. delote al
. . elete alarm
Define Essential Use Case
Use case 12. deleteAlarm e System
Exceptional Courses of Events | E2. & & ®Sof &g 0| 074 olst e 2« olm| M| A
o2 SSRN
User System

www.websequencediagrams.com

> deleteAlarm2| Sequence DiagramOf|A{ Use case 12. deleteAlarm2

error message =0| HFHE|0] UKX| L}
26



| Team 8 Specification Review
Stage 2040 Design

Activity 2031. Define Essential Use Case
Use case 10. nextAlarm

Exceptional Courses of Events | E3. HEE Y§0| gictH 2@ S50|ClE g@e=z

=o{7 x| el=ch

Activity 2041. Define Real Use Cases
Use case 10. nextAlarm

Exceptional Courses of Events | N/A

» 28¢ € 50| fla 820 gt o2l K27t 20300 M= EXHA2L; AZHREY,

27



| Team 8 Specification Review
Stage 2040 Design

Activity 2041. Define Real Use Cases
Use case 11. addAlarm

Typical Courses of Events (A) Actor / (S) System

1. (A) User?} adjusttH2 & F2ck.

2. (S) A =EH7 st 4EHIE A2 HHREC

3. (A) A BA} startt{E 8 S AIE[=HE 3
modetHE & 5 &

4. (5) 8A =E7 =t 4EE E2E HREC

5. (A) BRI 7l starttHE & =2 B8
modetHEE F21 (3)22 0|SEC}

6. (5) AlarmListoll AEHE YEE £} HU =HEC

28



| Team 8 Specification Review

Stage 2040 Design

Activity 2041. Define Real Use Cases
Use case 25. modeSelect

Typical Courses of Events

(A): Actor / (S) : System

1.(A) User7HmodetHE & 37 7 E2Imode select2
TIiEtct

2.(S) mode select 8% 8HE EAIEHCH

3.(A) User?} start HHE & =2 TimeKeeping 2E8&
Mt Lt M= slix| Bl

4 (A) User/l mode HEE =& Timer 2E2 8HE

= Fd =

5.(A) User7} start HE & =21 Timer TE& =& Lt
e s

> reset HES 4% =2{0f mode select2 T QISHC}

29



Stage 2040 Design
Activity 2042. Define Reports, Ul, and Storyboards

TimeKeeping > modeSelect2tHO| 2| AT}
[V] checked

ADJUST RESET

TimeKeeping

MODE START



Team 7 Category-Partition Review

Team 8 Category-Partition Review
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mode mode time
set time
timer
stopwatch
alarm
random number
global time
set global time
select mode

[property T)
[property ST)
[property TMR]
property STW]
[property ALM]
[property ROM]
[property GMT]
[property SGMT]
[property SM]

| Team 7 Category-Partition test

[error]
[error]
[error]
[error]

input input left top short time
left top long time

left bottorn short time

left bottom long time

right top short time
right top long time

right bottom short time

right bottom long time

data data valid year
invalid year
valid month
invalid month
valid day
invalid day
valid date
invalide date
valid hour
invalid hour
valid minute
invalid minute
valid second
invalid second
valid millisecond
invalid second

[errar]

[errar]

[error]

[error]

[errar]

[errar]

[error]

[error]

performance environment commaon
sleep(BHZE)

[single]

[error property] 2016 — 571
(71.68% & 2)

[single property] 571 — 292
(48.87% &)

[if property] 292 — 209
(28.43% & 2)

33



input:
left top short time.
left top long time.
left bottom short time.
left bottom long time.
right top short time.
right top long time.

right bottom short time.

right bottom long time.

valid year.
invalid year.
valid month.
invalid month.
valid day.
invalid day.
valid date.
invalid date.
valid hour.
invalid hour.
valid minute.
invalid minute.
valid second.
invalid second.

[if (T || ST || TMR || STW || ALM)]
[if (TMR || ALM)]

[if (ST || TMR || ALM)]

[if (TMR |] ALM)]

[if (ST || TMR || STW || ALM)]

[if (ST || TMR || ALM)]

[if (T || ST || TMR || STW || ALM)]
[if (T || ST || TMR || STW || ALM)]
STW
TMR
STW

ALM)]
STW ||
ALM) ]
STW ||
ALM) ]
STW ||
ALM) ]

[if (T || ST || TMR ||
[error] [if (T || ST ||
[if (T || ST || TMR ||
[error] [if (T || ST || TMR
[if (T || ST || TMR || STW
[error] [if (T || ST || TMR
[if (T || ST || TMR || STW
[error] [if (T || ST ||
[if (T || ST || T™MR ||
[error] [if (T || ST ||
[if (T || ST || TMR || STW
[error] [if (T || ST || TMR
[if (T || TMR || STW || ALM
lerror] [if (T || TMR || STW || ALM)]

STW
™R

ALM)]
STW ||
ALM) ]
STW ||

|
|
|
|
|
H
TMR || STW ||
|
|
|
]
)]

> inputl} data category—=
25 propertydf| A2t SHE L[ B2

ifE 2 2 ST E|= propertyE HAISHE

34



| Team 7 Category-Partition test

1 random number <errors F
2 global time <errors F
3 set global time <errors F
4 select mode <errors F
5 invalid year <errors P
& invalid month <errors P
7 invalid day <errors P
8 invalid date <errors P
9 invalid hour <errors P
10 invalid minute <errors P
11 invalid second <errors P
12 common <single> P
13 time left top short time valid year slesp (Key =1.1.1.2) P
14 time left top short time valid manth slesp (Key =1.1.3.2) P
15 time left top short time valid day slesp (Key = 1.1.5.2) P
16 time left top short time valid date slesp (Key =1.1.7.2) P
17 time left top short time valid hour slesp (Key =1.1.9.2) P
18 time left top short time valid minute slesp (Key =1.1.11.2.) P
19 time left top short time valid second slesp (Key = 1.1.13.2) P
20 time right bottom short time valid year slesp (Key =1.7.1.2) P
21 time right bottom short time valid manth slesp (Key =1.7.3.2) P
22 time right bottom short time valid day slesp (Key = 1.7.52) P
23 time right bottom short time valid date slesp (Key =1.7.7.2) P
24 time right bottom short time valid hour slesp (Key =1.7.9.2) P
25 time right bottom short time valid minute slesp (Key =1.7.11.2) P
26 time right bottom short time valid second slesp (Key = 1.7.13.2) P
27 time right bottom long time valid year slesp (Key = 1.8.1.2) F
28 time right bottom long time valid manth slesp (Key = 1.8.3.2) F
29 time right bottom long time valid day slesp (Key = 1.8.5.2) F
30 time right bottom long time valid date slesp (Key = 1.8.7.2) F
EY time right bottom long time valid hour slesp (Key = 1.8.9.2) F
32 time right bottom long time valid minute slesp (Key = 1.8.11.2) F
i3 time right bottom long time valid second slesp (Key = 1.8.13.2) F

35



| Team 7 Category Partition

test

35
36
7
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
&0
61
&2
63
B4
E5
&6
&7
B8
&9

set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time
set time

left top short time
left top short time
left top short time
left top short time
left top short time
left top short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
right top short time
right top short time
right top short time
right top short time
right top short time
right top short time
right top long time
right top long time
right top long time
right top long time
right top long time
right top long time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom short ime
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time

valid year
valid month
valid day
valid date
valid hour
valid minute
valid year
valid month
valid day
valid date
valid hour
valid minute
valid year
valid month
valid day
valid date
valid hour
valid minute
valid year
valid month
valid day
valid date
valid hour
valid minute
valid year
valid month
valid day
valid date
valid hour
valid minute
valid year
valid month
valid day
valid date
valid hour
valid minute

nfa
n/a
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa
nfa

(Key = 2.1.1.0.)
(Key = 2.1.3.0)
(Key = 2.1.5.0.)
(Key = 2.1.7.0.)
(Key = 2.1.9.0.)
(Key = 2.1.11.0.)
(Key = 2.3.1.0)
(Key = 2.3.3.0))
(Key = 2.3.5.0.)
(Key = 2.3.7.0.)
(Key = 2.3.9.0.)
(Key = 2.3.11.0.)
(Key = 2.5.1.0.)
(Key = 2.5.3.0.)
(Key = 2.5.5.0.)
(Key = 2.5.7.0.)
(Key = 2.5.9.0.)
(Key = 2.5.11.0.)
(Key = 2.6.1.0))
(Key = 2.6.3.0.)
(Key = 2.6.5.0.)
(Key = 2.6.7.0.)
(Key = 2.6.9.0.)
(Key = 2.6.11.0.)
(Key = 2.7.1.0.)
(Key = 2.7.3.0.)
(Key = 2.7.5.0.)
(Key = 2.7.7.0.)
(Key = 2.7.9.0.)
(Key = 2.7.11.0)
(Key = 2.8.1.0))
(Key = 2.8.3.0)
(Key = 2.8.5.0.)
(Key = 2.8.7.0.)
(Key = 2.8.9.0.)
(Key = 2.8.11.0.)

mm7mm7mno|v v v o vlv v oo vwww o vwwvw vowvw oo wolvwl o
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70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

100

101

102

103

104

1085

106

107

108

109

110

111

112

113

114

115

116

17

118

119

120

121

122

123

124

125

timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer
timer

left top short time
left top short time
left top short time
left top short time
left top short time
left top short time
left top shart time
left top long time
left top long time
left top long time
left top long time
left top long time
left top long time
left top long time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom short time
left bottom long time
left bottom long time
left bottom long time
left bottom long time
left bottom long time
left bottom long time
left bottom long time
right top short time
right top short time
right top short time
right top short time
right top short time
right top short time
tight top short time
right top long time
right top long time
right top long time
right top long time
right top long time
right top long time
right top long time
right bottomn short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottormn short time
right bottom short time
right bottomn long time
right bottomn long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time

wvalid year
valid month
valid day
valid date
wvalid hour
valid minute
valid second
valid year
valid month
valid day
valid date
wvalid hour
valid minute
valid second
valid year
valid month
valid day
valid date
walid hour
valid minute
valid second
valid year
valid month
valid day
valid date
wvalid hour
valid minute
valid second
wvalid year
valid month
valid day
valid date
wvalid hour
valid minute
wvalid second
wvalid year
valid month
valid day
valid date
wvalid hour
valid minute
valid second
valid year
valid month
valid day
valid date
wvalid hour
valid minute
valid second
valid year
valid month
valid day
valid date
walid hour
valid minute
valid second

n/a
n/a
n/a
n/a
nj/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a
nj/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a
nj/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a
nj/a
n/a
n/a
nfa
n/a
n/a
n/a
n/a
nj/a
nj/a
n/a
n/a
nfa
n/a
n/a
n/a
n/a
nj/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a

(Key = 3.1.11.0)
(Key = 3.1.13.0)
(Key = 3.2.1.0)
(Key = 3.2.3.0)
(Key = 3.2.5.0)
(Key = 3.2.7.0))
(Key = 3.2.9.0)
(Key = 3.211.0)
(Key = 3.2.13.0)
(Key = 3.3.1.0)
(Key = 3.3.3.0)
(Key = 3.3.5.0)
(Key = 3.3.7.0)
(Key = 3.3.9.0)
(Key = 3.3.11.0)
(Key = 3.3.13.0)
(Key = 3.4.1.0)
(Key = 3.4.3.0)
(Key = 3.4.5.0)
(Key = 3.4.7.0)
(Key = 3.4.9.0)
(Key = 3.4.11.0)
(Key = 3.4.13.0)
(Key = 3.5.1.0))
(Key = 3.5.3.0)
(Key = 3.5.5.0.)
(Key = 3.5.7.0.)
(Key = 3.5.9.0)
(Key = 35.11.0)
(Key = 35.13.0)
(Key = 3.6.1.0)

(Key = 3.6.11.0)
(Key = 3.6.13.0)
(Key = 3.7.1.0.)
(Key = 3.7.3.0)
(Key = 3.7.5.0)
(Key = 3.7.7.0)
(Key = 3.7.9.0)
(Key = 3.7.11.0)
(Key = 3.7.13.0)
(Key = 3.8.1.0)
(Key = 3.8.3.0)
(Key = 3.8.5.0)
(Key = 3.8.7.0))
(Key = 3.8.9.0)
(Key = 3.8.11.0)
(Key = 3.8.13.0)

R R B AR IR - IR - R IR - R AR AR AR - AR IR - AR IR - AR VAR - AR - BE -2 - BE - IR - IR - IR -IE AR -RE - AR - AR - AR - IR IR - AR IR - AR - AR -2 IR -AE- IR - IR IR - AR -RE-AE AR -AE-IE-IK - 2R -]

126
127
128
129
130
131
132
133
134
135
136
137
138
138
140
141
142
143
144
145
146
147
148
148
150
151
152
153

stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch
stopwatch

left top shart time
left top shart time
left top short time
left top short time
left top short time
left top shart time
left top shart time
right top short time
right top short time
right top short time
right top short time
right top short time
right top short time
right top short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom short time
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time
right bottom long time

valid year
valid month
valid day
valid date
valid hour
valid minute
valid second
valid year
valid month
valid day
valid date
valid hour
valid minute
valid second
valid year
valid month
valid day
valid date
valid hour
valid minute
valid second
valid year
valid month
valid day
valid date
valid hour
valid minute
valid second

nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
n/a
nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
nfa
n/a
nfa
nfa
nfa
n/a

(Key = 4.1.1.0.)
(Key = 4.1.3.0.)
(Key = 4.1.5.0.)
(Key = 4.1.7.0.)
(Key = 4.1.9.0.)
(Key = 4.1.11.0.)
(Key = 4.1.13.0.)
(Key = 4.5.1.0.)
{Key = 4.5.3.0.)
{Key = 4.5.5.0.)
{Key = 4.5.7.0.)
(Key = 4.5.9.0.)
(Key = 4.5.11.0.)
(Key = 4.5.13.0.)
(Key = 4.7.1.0.)
(Key = 4.7.3.0.)
(Key = 4.7.5.0.)
(Key = 4.7.7.0.)
(Key = 4.7.9.0.)
(Key = 4.7.11.0.)
(Key = 4.7.13.0,)
(Key = 4.8.1.0.)
(Key = 4.8.3.0.)
(Key = 4.8.5.0.)
(Key = 4.8.7.0.)
(Key = 4.8.9.0.)
(Key = 4.8.11.0.)
(Key = 4.8.13.0.)

M Mm99 9 MMM Y9 9 9@ o9 MM e o 9 O
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154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180

alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm
alarm

left top short time
left top short time
left top short time
left top short time
left top short time
left top short time
left top short time
left top long time
left top long time
left top long time
left top long time
left top long time
left top long time
left top long time
left bottom short time
left bottom shart time
left bottom shaort time
left bottom shart time
left bottom shaort time
left battom short time
left bottom shart time
left bottom long time
left battom long time
left bottom long time
left battom long time
left bottom long time
left battom long time

valid year
walid month
valid day
valid date
valid hour
valid minute
valid second
valid year
walid month
valid day
valid date
valid hour
valid minute
valid second
valid year
walid month
valid day
valid date
valid hour
valid minute
valid second
valid year
walid month
valid day
valid date
valid hour
valid minute

n/a
nfa
n/a
n/a
n/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a
nfa
n/a
nfa
n/a
n/a
n/a
n/a

(Key = 5.1.1.0,)
{Key = 5.1.3.0.)
(Key = 5.1.5.0.)
{Key = 5.1.7.0.)
(Key = 5.1.9.0.)
(Key = 5.1.11.0.)
(Key = 5.1.13.0.)
(Key = 5.2.1.0,)
{Key = 5.2.3.0)
(Key = 5.2.5.0.)
(Key = 5.2.7.0.)
(Key = 5.2.9.0.)
(Key = 5.2.11.0.)
(Key = 5.2.13.0.)
(Key = 5.3.1.0,)
{Key = 5.3.3.0)
(Key = 5.3.5.0.)
{Key = 5.3.7.0.)
(Key = 5.3.9.0.)
(Key = 5.3.11.0.)
(Key = 5.3.13.0.)
(Key = 5.4.1.0,)
{Key = 5.4.3.0)
(Key = 5.4.5.0.)
{Key = 5.4.7.0.)
(Key = 5.4.9.0.)
(Key = 5.4.11.0.)

W©0|YWO |9V |O| 09| OO0 VvV V9 O 9 V9 O O 9 Q9 O O O O O O Q9 O

181 alarm left bottom long time valid second n/a (Key = 5.4.13.0.) P
182 alarm right top short time valid year nfa (Key = 5.5.1.0) P
183 alarm right top short time valid month nfa (Key = 5.5.3.0) P
184 alarm right top short time valid day nfa (Key = 5.5.5.0)) P
185 alarm right top short time valid date n/a (Key = 5.5.7.0) P
186 alarm right top short time valid hour n/a (Key = 5.5.9.0)) P
187 alarm right top short time valid minute n/a (Key = 5.5.11.0) P
188 alarm right top short time valid second nfa (Key = 5.5.13.0) P
189 alarm right top long time valid year nfa (Key = 5.6.1.0.) P
190 alarm right top long time valid month n/a (Key = 5.6.3.0) P
191 alarm right top long time valid day n/a (Key = 5.6.5.0.) P
192 alarm right top long time valid date nfa (Key = 5.6.7.0.) P
193 alarm right top long time wvalid hour nfa (Key = 5.6.9.0) P
194 alarm right top long time valid minute nfa (Key = 5.6.11.0.) P
195 alarm right top long time valid second n/a (Key = 5.6.13.0) P
196 alarm right bottom short time valid year nfa (Key = 5.7.1.0)) P
197 alarm right bottom short time valid month n/a (Key = 5.7.3.0) P
1498 alarm right bottom short time valid day nfa (Key = 5.7.5.0) P
189 alarm right bottom short time valid date n/a (Key = 5.7.7.0) P
200 alarm right bottom short time valid hour nfa (Key = 5.7.9.0)) P
201 alarm right bottom short time valid minute n/a (Key = 5.7.11.0.) P
202 alarm right bottom short time valid second n/a (Key = 5.7.13.0) P
203 alarm right bottom long time valid year nfa (Key = 5.8.1.0) F
204 alarm right bottom long time valid month nfa (Key = 5.8.3.0) F
205 alarm right bottom long time valid day n/a (Key = 5.8.5.0)) F
206 alarm right bottom long time valid date nfa (Key = 5.8.7.0)) F
207 alarm right bottom long time valid hour n/a (Key = 5.8.9.0) F
208 alarm right bottom long time valid minute nfa (Key = 5.8.11.0) F
209 alarm right bottom long time valid second n/a (Key = 5.813.0) F
[Category — Partition test rate]

162/209 x 100 = 77.5%
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timekeeping
timesetting
timer
timersetting
alarm
mode mode .
alarmsetting
stopwatch
tide
moonphase
Mode select
sleep
performance performance
common
none
adjust
) start
input Button
reset
mode

mulit

test

___group | _category | value

input

push

data

0
1
4
invalid minute
invalid hour
valid minute
valid hour
invalid date
invalid month
invalid year
valid date
valid month
valid year
eclipse
invalid sea
east sea
west sea

south sea

40



mode:

timekeeping. [property TK]

timesetting. [property TKS]

timer. [property TM]
[property TMS]
[property AM]
[property AMS]
[property SW]
[property TD]
[property MP]

mode select. [property MDS] // 10

performance:
environment:

sleep. [if (TK I TM [l SW [ TD [| MP)] [error property] 5400 — 2166 (60% 7|:|}-—Jl\—)

common.

input:
button type:
none [single]
adjust. [if (TK || TKS || TM || TMS || AM || AMS || SW || MDS)][property AD]

rosct. {1 T TMIILANI | SW Il TO I MPYroporty RS =0 [single property] 2166 — 1447 (34% & 2)

mode.  [if (TKIITKSII TM Il TMS Il AM Il AMS Il SW Il TD Il MP |l MDS)][property MD]
multi [error] /6

push:
0. [single]
1 [if (AD Il RS)]

4<=. [ (MDIIST)] [|f propel’ty] 1447 — 95 (94% 7|:||-—)'K—)

data:

invalid minute. [error]

invalid hour.  [error]

valid minute.  [if (TKS Il AMS Il TMS Il TD Il MP)]
valid hour. [if (TKS Il AMS Il TMS |l TD Il MP)]
invalid date.  [error]

invalid month. [error]

invalid year. [error]

valid date. [if (TK Il MP 1l TD)]

valid month.  [if (TK Il MP Il TD)]

valid year. [if (TK Il MP 11 TD)]

eclipse. [if MP]

invalid sea. [error]

east sea. [if TD]

west sea. [if TD]

south sea. [if TD]
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8 Category-Partition test

= Fal
timekeeping ZEOAM 53 L2 A% Z adjust HES 13| F2C0t 0| A REO|M 127t CH7| T A|Zt0] M2 SR =X| =elstr)
timekeeping 2E0|M RE% 22 HF F adjust HHES 12| F2Ct 0| EH ZE0M 122 7] = A|ZHo] M2 SR=X| =elsict
timekeeping ZE0|M R2% HOZ 4% F adjust HES 13| FECt 0| 2 ZE0M 122 7] & A|lZHo] M2 S&l=X| =HQIstot.
timekeeping ZEO0|A RESH L2 M Z reset HES 13| £20} 0|F B REO|A 127t Tf7| T A|ZHO] X2 SREX| 2QIstot
timekeeping ZEOA RS 2 ™ = reset HES 13| F2C} 0|F MM oM 127 Th7] F AZt0] M2 SR EX| Zlstr).
timekeeping ZEO0|M RE% HOE U F reset HES 13| FECL 0|2 X REO|M 122 Ti7| = A|ZHo| MCHE SR =X| =elstct
timekeeping 2E0|A RRot Y2 BT T mode HES 43| 0| +ECL 0|2 M ZEOM 127 THY| = AjZt0] M2 S =X =Qlotct
timekeeping ZEO0|A R 22 47 = mode HHES 43| 0| +EL} 0|7 EHX ZEOM 122 7| = AlZt0] MUZE SX=X| QIotC)
timekeeping ZEOM R2% HOZ 4% T mode HHES 42| 0|4 FEL} 0| T ZEO|M 122 TH7| 2 AZH0] M2 SR =X| Qo)
timekeeping ZEO|AM RE% 2 47 = adjust HES 12| FECL 0|2 122 Tf7| £ A|Zt0| MU E S =X| QlEtc)
timekeeping ZEO0|M RE% Y2 47 Z adjust HES 12| F2CL 0|F 122 TH7| & A|Zt0| MU E SHE=X| FQlc)
timekeeping ZEO|M R2% HOZ 4% F adjust HES 13| FECt 0|F 122 th7] 2 AjZt0] M2 SX=X| et
timekeeping ZEO|M RRot Y2 M Z reset HHES 12| £ 2L} 0|2 122 7| T A|ZH0] HMHE SRI=X| 2L
timekeeping ZEOA 2T HE HH T reset HES 13| 2L} O|F 127 th7| & A|Zt0| HMCHE S =X 2Qlstrt
timekeeping ZE0|A RRSH HOE M = reset HES 12| FECL O|F 127 7| = A|Zt0] M E SR =X Felstct
timekeeping ZE0|A RE% 42 4 = mode HHES 43| O|¢ FELt 0|7 122 Th7] = A|ZH0] MCHE SR =X| 2elstch
timekeeping ZEOA R E2 47 = mode HES 43| 0| +EL} 0| 122 Th7] = AZH0] MCHZE EX=X| 2elstct
timekeeping 2E0|A Szt 4 3| Old 2Lt o= 127 th7| = A|Zt0| M2 S EX| =ltct

pal

ot Ho 23] 4 S

timesetting ZE0A F&E3H 222 473 = adjust HES 12| FECL 0|F 127 Tf7| = A|Zt0] HStX| U=
timesetting ZE0IM &3 AlZte2 47 = adjust HES 13| FEC 0|2 122 Tf7| = A|Zto] HSHR| 4Rk
timesetting ZE0A R&E3H 222 HH = start HHES 43| 0|4 FEC 0|F 127 TH7| = A[7tO] BSHX] b2k
timesetting ZEOM {28t A|ZIC2 M = start HES 43 22k 7| = AlzZto] BSHX] §F
timesetting ZE0|A F&3t 222 47 22 7] F AlZho] #SHR| &

timesetting ZE0|M & A 2 49 122t 7] = A|Zto] HSHX| 8
timer 2E0|AM adjust HES 1 A|ZHO| S| QEb=R| =holotet,

k=1

LS M
timer ZEOA &S AIZIS U=

£ rr

= r

i T2
-

g 275

O = rob

o )

il E

3Q
rir
Ral
ot
o
ok
n

x| =tol

™
|0
3Q
rir

IE ot
rim

o
N |m
for K
o Mt
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ool 152 Ch7] = A|ZH0| HfE BREX| gt

S3lE
2t CH7] = AIZHO| HHOLR| GRtEX| 2olptot

ZHOH7] = AlZHO| Hiti2 SRE=X| gelgtt
AlZto] BISHA] QERL=A| =HQIBHCE

T AZHO| M2 SR=X| golstt

7
Ch7| & AIZHO| BIBIX| YRLEX| SOIBICH
1127 O47] S AlzZbo] HTHE BREX| olsic

%
—+
Q
=

N

timer ZE0|A reset HES
timer 2EO|M F&TH A|ZHS HE 2 mod
timer 220 adjust HE
timer ZEOM 2% AIZHS RE Z start
timer ZEO0| A reset HES

timer ZE0|AM 23 A|ZHS HE = mode

ot
rm 4r
fmjo |
k1
n
[
ta
In
=2

®
=

R
nx
[l

o o
In
2
Rl
AT

njo

R
IS
=
S
o qr
AL |

L STV
rim
fjo
N
ot

N oz
qr
n
ki
A
=
fim)

~ K
LN
o AL ©

fim 4r
ox

mo |ru

T

Mz
1.1.1.28.
1.1.1.209.

1.1.1.2.10.

1.1.3.28.
1.1.3.29.

1.1.3.2.10.

1.1438.
1.1.4.309.

1.1.4.3.10.

1.2.1.2.8.
12.1.209.

1.2.1.2.10.

12.3.28.
1.2.3.29.

1.2.3.2.10.

12438
124309

1.2.4.3.10.

2.2.1.2.3.
22124,
2.2233.
22234,
2.24.33.
22434,
3.1.1.2.0.
3.1.2.3.0.
3.1.3.2.0.
3.1.4.3.0.
3.2.1.2.0.
3.2.2.3.0.
3.2.3.20.
3.24.3.0.

[Ih]
=]

=)
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33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
67
62
63
64
65
66

timersetting ZE0A adjust HES 13| 21 {ust 28 = = 1827 07
timersetting ZE0{A adjust HES 13| F210 = A7t U= F 127t f
timersetting Z =0 A start HES 43| 0 =2 =

=
timersetting ZE0|A mode HHES 43| 0|4 21 Fa 28 U= F Al7t0
timersetting 2 =0 A mode HHES 43| 0|4 £21 Qs AIZHS U&= = A7t
alarm 2 E0{A adjust HHES 12| =2 alarmsetting 3|
alarm ZE0|M start HHES 42| 52| CHE Y2 E5t=4 &
alarm 2 EO|M reset HES 12| 52 LEO0| X|YX|=X| 2elotrt.
alarm 2 E0|M mode HHES 42| Ol =3 mode?t HPE[=X| & QBT
alarmsetting ZEOM F2% 22 Y T adjust HES 12| =28 alarmO| M2 S| =X| Qlstot.
alarmsetting ZE0(A F&3H AZHS Y3 = adjust HES 12| £2] alarmO| M2 Y =X| &It}
alarmsetting 2 =0 A start HES 42| O|d =2 =2 20| HUZ 2F ==X &elgtcth
alarmsetting ZE0i|A start HHES 42| O|d =2 Rt A|ZH0| M2 2F = =X| gelstot
alarmsetting ZE0|M mode HES 42| O|¢} =2 RR% 22 4¥Y = A=K &)
alarmsetting Z=0iAM mode HES 43| Ol =8 Rad AlZHS 28Y = A=Kl gelstct
stopwatch ZE0IM adjust HES 12| =2 A|ZH0] 7|E&|=X| 2olstct 0| EHZE0M 122 7| = A|Zt0] SEX| =X =elstet.
stopwatch 2E0|A start HHES 42| =2| A|ZH0| MO 2 7t=X| 2RIt} o|F HEHLDEOAM 1=t 7| = A[Zto] MUz &3
stopwatch ZE0IM reset HES 12| =2 A|ZH0| £7|3tE|=X| golottt 0| BHZE0M 122 7| = A|ZH0] SEX| 82t

I :
stopwatch ZE0|A mode HHES 42| 0| =2 RE7I M2 HEZ=X| 2QlotCt 0| HMREM 122 ti7] = AlZto] S2X| §Ut=X| 2HQlsot
A

stopwatch 2EO0|A adjust HES 12| =2 A[Z0] 7| S ==X 2QISHCt 0|2 122 CH7| = A[Zt0] SE2X| YRt=X| 2HQlIgt

stopwatch ZE0| A start HES 42| 521 A|Zt0] HCHZE Zh=X| ZQIiCt O] 122 7| = A[ZHO] MCHE SR =X| &elsict
stopwatch ZEO| M Reset HES 12 FO| SEX| YURY=A| ElThLt,

s

=2] A|ZH0] 7|3l =X| &olstrt. O|F 1827 i7| = Al 2

stopwatch ZEO|A mode HHES 43| 0|& 52 ZE7} M2 MAL|=X| &Qlsttt o|F 127t f7| = A|Zt0] S2X| §ARXEX| =0l

tide ZEOM R8T 22 U&= T start HES 43| 0|4 =8| X|H0| H{E HSt=X| 2QIstrt.

tide ZEOM S= st start H O|4 &2 X|Y0o| MCHE WsH=X| =HQIBtC)

tide REOM B2t start H O|4 &2 X|Y0o| MCHE HsH=X| =HQIBtC)

tide ZEOM & start 2 43| 0|4 =28 X|Yo| HH=E HEt=X| 2Istrt.
tide REOM Rzt =

tide ZE0| M start

tide ZE0| M start

tide ZE0| M start

tide ZEO|N fE 3t

tide REOAM R Al

7
o
=3

[

>
A
i mjo
bl

r o>

£g 43|
£g 43|

b
o

o
bl

o
rol

ot
o
=

start

mjo nljo

HE
HE
4%| O|4 =12 east seaE VHRE & 5= U=X| st}
43| 0|4 =2 west seaE YH2E F 5= U=X| Slotct
2| Old &2 south seaE YHLE & = JU=A| &IoHCh
U= = reset HES 13| 52 2 A=X| &olstot,

= reset HES 13| =2 OtF & PE=X| =lstct

mo mjo M4 H¥

M rim rm

X
AT njo

mo

=l

o=

A
o
b
M

421.23.
42124
42233.
42234
42433.
42434
5.2.1.2.0.
5.2.2.3.0.
5.2.3.2.0.
5.2.43.0.
6.2.1.2.3.
6.2.1.2.4.
6.2.2.3.3.
6.2.2.3.4.
6.2.4.3.3.
6.2.4.3.4.
7.1.1.2.0.
7.1.2.3.0.
7.1.3.2.0.
7.1.4.3.0.
7.2.1.2.0.
7.2.2.3.0.
7.2.3.2.0.
7.24.3.0.
8.1.2.3.3.
8.1.2.3.4.
8.1.2.3.8.
8.1.2.3.9.
8.1.2.3.10.
8.1.2.3.13.
8.1.2.3.14.
8.1.2.3.15.
8.1.2.3.2.3.
8.1.3.2.4.

W YUY YU U VYU U U U UV UV U UMUTUTUUTUUUU U UV UV U U UU
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67
68
69
70
71
72
73
74
75
76
77
78
79
80
81

82
83
84
85
86
87
88
89
90
91

92
93
94
95

tide ZEOA ST EME UE = reset HES 13| 2] OFF L QX SISt
tide ZEOA FE LS U= F reset HES 13| 52 OFF Y QUE=X| &It
tide PEOAM S5t HE UE F reset HES 13| 2] OFF L YEX| &QIstot
tide ZEOM SOI2 = T reset HES 13| 52 OFF ¢ SI=X| =olsic)
tide ZEO|A M2 A= = reset HES 13| 52 OF Y =X =olgict
tide ZEO|A 2 = = reset HES 13| £2f OFF & Q=X Solstet.
tide ZEOM SEst 2EOZ U&E = mode HES 43| 0|4 £2] mode?t M2 HAL| =X golstot

-

A

H
o

ro

rot

inl

tide ZEO|AM FE3 A|IZICE &

o

mode HEE 42| 0|4 =2] mode?t MHE

rE
X
Hn
rr

x| =

tide ZEOIM 23 EME UE = mode HES 42| 0|4 52 mode?t M2 HAZ|=X| ZHQIeHC}
tide ZEOM R Z2 HE F mode HHES 43| 0| 52| mode?t M2 HABL =X QIBHC.
tide ZEOA FRY H2Z ME £ mode HES 42| 0| =21 mode?t M2 HEE =X 2RISet

tide ZEO0AM SHHE SE Z mode HES 42| 0|¢ 21 mode 7t M2 HAE|=X| =QI5IC
tide ZEOAM MSIZ SHE = mode HES 42| 0| =2 mode 7 M2 HA =X &I
tide ZEO|AM HlZ SHE = mode HES 42| 0|& 21 mode 7t M4 2 HAE|=X| 2Ql5IC

moonphase ZEOA 2 B2 E11 reset HES 15| 2 OIF ¢ Q=X 0I5t}

Ho ot ot

Of

moonphase ZEO|A RESH A|ZHS 21 reset HES 15| 52 OtF ¥ Q=X &olgict.
moonphase ZEO|A REs ERE E1 £

reset HES 13 =2 OF & Gl=X| =olpict.
[e]

moonphase ZE0|A REst 22 10 reset HES 13| 2] OFF ¥ QIEX| &olstCt
moonphase ZE0A =P HE2 210 reset HES 13| £2 O1F ¥ SI=X| oIt
moonphase ZEO|A AE @1 reset HHES E1 13| 52 OFF & Q=X] SHQIEICH HA0] ¢S BAME=X] &0
moonphase ZEO0|M f23%t 2 €1 mode HES 42| 0|4 =2 mode 7t X Z HMZAE|=X| 2olstct.
moonphase 2E0|AM R72t A[Z+E E1 mode HES 42| 0| &2 mode?t HHE HAL|=X| IS}
moonphase ZE0|A RR%t ERE E1 mode HES 42| 0| =28 mode?t M2 HAL|=X| ISt}

moonphase ZE0|A 323t 22 @1 mode HHES 42| 0|4 2 mode?t MU E HAE|=X| =I5t}
moonphase ZEMHA |zt H2 E1 mode HES 42| 0|4 =& mode?t MU Z HE X=X =HQlotet.
moonphase ZE0|A EAE @1 mode HES 43| 0|4 &2 mode?t M2 MAL|=X| &QISHCE HAlo| 2I4S HHAH
mode select ZE0|Af adjust HES 13| 53 ZE MEl M¥0| BHFL|=X| olstr)
mode select ZEO0| M start HES 42| 0|4 =2 ZE MEHO| on/off ==X 2}QlStC}
mode select ZE0|A mode HEE 42| 0|& 2] mode select 7t 0| S [ =X| 2QlIotCt

= —

8.1.3.28.
8.1.3.29.

8.1.3.2.10.
8.1.3.2.13.
8.1.3.2.14.
8.1.3.2.15.

8.14.33.
8.14.34.
8.1.4.38.
8.1.4.39.

8.1.4.3.10.
8.14.3.13.
8.1.4.3.14.
8.1.4.3.15.

9.1.3.23.
9.1.3.24.
9.1.3.28.
9.1.3.29.

9.1.3.2.10.
9.1.3.2.11.

9.14.33.
9.14.34.
9.14.38.
9.14.309.
9.1.4.3.10.
9.14.3.11.
10.2.1.2.0.
10.2.2.3.0.
10.2.4.3.0.

W Y YUM UV U YU YUUMU U VU U U U U VU U U U VU TU U U U U U U

[Category — Partition test rate]

81/95 x 100 = 85.26%
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Team 7 Pairwise Test

Team 8 Pairwise Test
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Pairwise Test

-Team 7/
-
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mode: time, set time, timer, stopwatch, alarm, global time

input: left top short time, left top long time, left bottom short time, left bottom long time, right top short
time, right top long time, right bottom short time, right bottom long time

data: wvalid, none

IF [mode] = "time" THEN [input] IN {"left top short time", "right bottom short time", "right botton long time"};

IF [mode] = "set time" THEN [input] IN {"left top short time", "left bottom short time", "right top short time",
"right top long time", "right bottom short time", "right bottom long time"};

IF [mode] = "stopwatch" THEN [input] IN {"left top short time", “right top short time", "right bottom short
time", "right bottom long time"};

IF [mode] = "global time" THEN [input] = “right bottom short time" OR [input] = "right bottom long time";

IF [mode] IN {"time", “stopwatch", "global time"} THEN [datal = "none";
IF [mode] IN {"set time", “timer", "alarm"} THEN [data] = "valid";

PICT Tool& 0|83t Ct31f &0| Category-Partition Test Off Af

CategoryE 7H°| o|Ed(mode, input, data)2 12{5l0] IF, THENE=2 25
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| Team 7 Pairwise test
~ number [ mode  nput  data  result |

1 alarm left bottom long time valid P
2 alarm left bottom short time valid P
3 alarm right bottom long time valid P
4 alarm right top short time valid P
5 alarm left top short time valid P
6 alarm left top long time valid P
7 alarm right top long time valid F
8 alarm right bottem short time valid P
9 global time right bottom short time none P
10 global time right bottom long time nane P
11 set time right top long time valid F
12 set time right bottom long time valid P
13 set time right bottom short time valid P
14 set time left top short time valid P
15 set time left bottom short time valid P
16 stopwatch right top short time none P
17 stopwatch right bottom long time nane P
18 stopwatch left top short time none F
19 stopwatch right bottom short time nane P
20 time right bottom short time none P
21 time left top short time none P
22 timer right bottomn long time valid P
23 timer left bottom long time valid P
24 timer right bottom short time valid P
25 timer right top short time valid P
26 timer left bottom short time valid P
27 timer left top long time valid P
28 timer left top short time valid P
29 timer right top long time valid F

[Pairwise pass rate]

— 25/29 x 100 = 86.2%
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Pairwise Test

-Team 8
-

49



| Team 8 Pairwise test

Environment : 8MEE / IR E

= -
sleep time start tide Data : = 2= data2| type
common date adjust moonphase HW button : EX 7}=3t HE
- sea mode timerunning
_ _ reset setting Mode : setting mode®} timerunning mode,

Z=7tEl tide?t moonphase 32| 24

https://pairwise.teremokgames.com/4s8/
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https://pairwise.teremokgames.com/4s8/

| Team 8 Pairwise test

O 0O NOO UV A~ WN PR

Tl = el
H W N R O

sleep

sleep

sleep
common
common
common
common

time
date
date
sea
time
time
date
time
date
sea

start
adjust
reset
mode
reset
start
adjust
adjust
mode
reset
mode
reset
start
adjust

tide
moonphase
setting
setting
tide
moonphase
timerunning
setting
tide
moonphase
moonphase
timerunning
setting
tide

Y UM YU mMm YV U VUV U VU U U U O

[Pairwise pass rate]

— 12/14 x 100 = 85.71%
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Team 7 Brute Force Test

Team 8 Brute Force Test
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Brute Force Test

-Team 7/
-
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Test Case & Result — A|AS| 7|2HM 0l 7|52 SA2

= Testing

re
ot

Test case

Summary

Result

sma7-9 :

sma7-85

sma7-84 :

sma7-83 :

sma7-82 :

sma7-81:

sma7-8 :

sma7-7 :

sma7-6 :

sma7-5 :

sma7-4 :

sma7-3 :

sma7-2 :

sma7-15

sma7-14

sma7-13

sma7-12

sma7-11

sma7-10

sma7-1:

R.10.0 Timer 2= mj 24}
: R.5.1 b= MHo| 7hsEHR| &l
R.5.2 th4= At 2| HHo| 7Hs 3R] gtel
R.8.0 47kX] 2E M7 7HsEx| &el
R.6.0 Global Time0| HLHE SHE|=X| &l
R.4.0 Alarm H|gHd3} A| 2&H0| 22|%| gf=%| &0l
R.10.0 Time ZEY mj Y2t
R.10.0 Z5& Alarm
R.3.0 Stopwatch M#Z Azt #Z
R.2.1 Timer H3E A2t 7

R.3.0 Stopwatch@| SHIE AIZHEA|

R.2.1 Timer2| HIE A|ZLEA|

R.3.2 00:00:002! HEHOIA stopwatch 2|41 F AIZ}
: R.10.0 Global Time2Eg 1j Eto|oy

: R.10.0 Stopwatch 2E mj E}o|0

: R.10.0 Timer 2E O E}0|

: R.10.0 Time 2E 0 E}0|H

: R.10.0 Global time ZEQ [ 22t

: R.10.0 Stopwatch 2= jf 2}

R.2.1 AIZHS 00:00:0022 M|E/5tD EFO|H AR

Timer 2E S wf, o2to| M F2|=X| golsict

User?} L2 235101 R.5.201M A& £t Wellle| 48 S8l $E&310] BoiZEX| &el
L2 MAdst Xt e HEo| 7HsEER| Eelsict.

Alzt, Efo|of, AEIIR|, bt Of3X| Al7H, Lt MM = 47}X|2 Melislo] = HZOR MEo| JHsEHR| BiolEiCt
Global TimeO| &H5l1 42 AZISE HUE SHEE=X| gl

Alarm H|gHd3t A 280| 22X Q=X &Isict,

Time 2C 332 mf, 2i2to| Xmf S2|=X| SQISict,

AlarmE 2740]4 SEEA| MHst 2L 20| Xh=2 S2|=X| &fIsict

Stopwatch MZ A|2H M| 7Hs5tA| 9F2X| EolsiCt

Timer M8Z A|2t 20| 7Hs3HX| 2| EQI5HCE

Stopwatch?} SE mjf, SHIE AlZt TH9|2 S2 712 &elsich

(ex. 22 6027IX|, E= 60ETIX|/ 59X I 1222 HHE HOZH=Th)

Timer7t 52 [, 2HHE AIZH CHR|2 B2E712 EOIICH

(ex. 12Um) 59%2 TN Hoi7}=7})

00:00:002! &EHOIlA stopwatch 2|A & AlZ}

Global Time 2= &tHQ f, EO|Y7} K| S2|=X| &fQISIC}

Stopwatch 2= St 1, Eto|H7t Hluf Sa|=X] &HoIFHTt,

Timer 2E St uf, Efo|0{7} Muf 22| =X EQIsit,

Time 2C S22 mf, E{O|M7} Hey S2|=X| &QlIsict

Global time 2 &MY uf, 22t0] X|uf S2|=X| SQISICt

Stopwatch 2= SHY o, 20| Hrh 22|=x| &ol5iCt.

AlZ}2 00:00:0022 M|EI5tD ELO|H AlZ}
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Team 7/ Brute Force Test

Failed Case

sma7-85 : R.5.1 s Y40| 7hs x| &fel

sma7-84 : R.5.2 4 R WS HHO| 7ksEtx| el

sma7-83 : R.8.0 47}X| 2= 4% 7HsEHx] &l

48 7ls 7oA ¥E

sma7-82 : R.6.0 Global Time0| &2 HE==X| &2

14

sma7-15 : R.10.0 Global Time2E ¢ i} EFO|OY

sma7-11 : R.10.0 Global time 2E o 22t

> Global time 2E 3 E|X| &S

8

sma7-7 : R.10.0 £ &l Alarm

UserZt th4-8 23519 R.5.201M 438t 2% yeiuiel +8 S/ FE3I0 2oFEX st
B YUY 27 Yol FO| 7HsEIX| ettt

AlZt, EtO|, ARIIR|, R, OIHX] AlZH, i WY T 471X 8 M9310] RC HZo= HH0| 7hs#ix| &olgict,

Global Time0| &5t 42 AlZIo2 Hdi= QE=|=X| Stel

Global Time 2= i1 i, ELO|0{2} o} S2|i=X| &oIstc,

Global time 2= =12 Of, U20| M S2li=A] &St

AlarmE 270014 S5=|7] YEE Z2 L=0| Mch2 B2|=X| Soldct

> Alarmg 274 0|4 FEEA MYsHR 22| S2|X| YLt

LS T
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| Team 7 Brute Force Test
Failed Case

10 |sma7-5: R.2.1 Timer &85 A2t # Timer &S A2 H120| FH=3tx] 2| oIgict, F

> Timer &% & A|Zt HHO0| 7SS

1 sma7-4 : R.3.0 Stopwatch2| EHtE A|ZHEA| Stopwatch?} & 0, SUIE AIZ! C9|2 S2=7H8 2ol F
(ex. B2 60EMX|, &= 60ENR|/ 59%2 uf 1222 Hj2 HO7H=7})

> 600 Al HEEX| B 997t K| S EL}

13 |sma7-2 : R.3.2 00:00:009! AefoiA stopwatch 2|4 & A=t 00:00:009! MefollA stopwatch 2|4l & A%t F

> 00:00:00Q! &E{O|A stopwatch2|Al = A|ZH0] T X| @=Lt

20 F
sma7-1: R.2.1 AlZHS 00:00:0022 M|EatD ELO|o Al AlZHE 00:00:0022 MIEI5a ELO|0] Al

> 00:00:002! SEHO A EtO|TH A|ZSHH A[A| 7t T O] SEOIHA| HEL.
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Brute Force Test

-Team 8
-
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Test Case & Result — A|A2| 7|2HM 0l 7|52 A2

e Test case Summary feslt
sma8-9 : R.2.4 SelectMode 2= uff kgt SelectMode 2= 3t mf, Ato| M S2l=xX| &holstct, T
% sma8-8 : R.2.4 Moonphase 2=9 off &t Moonphase 2= &}HY mff, 22to| Muf S2|=X| &elstct, T
3 sma8-7 : R.2.4 Tide 2= ujf Azt Tide BE 3}HY uf, Y2to] Huf S2|=X] &lFtct, T
4 | sma8-6:R.2.4 Stopwatch 2= mf 22t Stopwatch 2 St uf, 20| Mol S2|=X| EIstct T
5 sma8-5 : R.2.4 Timer 2EY mjf 22} Timer 25 S1HY o, &2to| Hm) 22|=X| &olstct, T
6 | sma8-4 : R.2.4 TimeKeeping 2= mj 2zt TimeKeeping 2 E sl mf, 2gto| M|mj S2|=X| &lstt. T
7 | sma8-3 : R.2.2 Z2 Alzte| &gt 22 Alzfe geto| 274 0|4 MHE A0l STUCH T
8 ;mlaS;ZilélR.é.O Moonphase 2E 3}HY o, Moonphase ZE &MHY i, modeSelect2 H|cHZ XIUsH=X] &hol. T
elect IR
9 sma8-22 : R.6.0 Tide 2= 3} 1], modeSelect ¢ Tide 2= $HY i, modeSelectZ MchZ FISH=X| &ol, T
10 | sma8-21: R.6.0 Stopwatch 2E $tHY uff, modeSelect Stopwatch 2= 3tHY 1, modeSelect2 XHZ FIYUsH=X| &l T
11 sma8-20 : R.6.0 Alarm 2E SHY uf, modeSelect Z1Y Alarm 2E 3HHY off, modeSelect2 M2 FIYsH=X| &el, F
12 |sma8-2:R.0.1 24 S 4 Al 292 12ish=X| EQIg) T
13 | sma8-19 : R.6.0 Timer 2= 322 i, modeSelect ZIg! Timer 2E 3MHY 1, modeSelect2 HCHZ XQl5H=xX] &ol T
14 sqrr:aa-t1g|;IR.6.0 TimeKeeping 25 3}HY o, TimeKeeping 2E 5|32 I, modeSelectZ H|cH2 FIISH=X| &2l T
elect 7l
15 | sma8-17 :HR.3.0 Stopwatch2| SHIE A|ZHEA| ASRZE TIHE wf, < Al 2 = 0.1F> 7 A7t 7ol A FHESHH EAIE o FEl=X] Zolsict. T
16 | sma8-16 : R.1.0 Timere| SHIZ A|Zt EA| Efo|07} ZISE! mf, < A| £ &> 7t AIZ ZH 0l StH| HEsiAH| FAIE0f TSR] golstict, T
17 | sma8-15: R.1.5 SelectMode 2= uf Eto|H SelectMode 2= 3} of, EIO|07} &|uff S2l=x] &olsict, T
18 | sma8-14 : R.1.5 Moonphase 2 =2 mj Eto|0{ Moonphase 2 SHHY i, ELO|H7} Kmf S2|=X| golstct, T
19 | sma8-13 : R.1.5 Tide 2= uj Ef0|0y Tide 2E 3pHY uf, EfO|0{7} R S2|=X| BHolBic), T
20 | sma8-12 : R.1.5 Stopwatch ZE! mj Efo|H Stopwatch 2E 3t mf, Eto|0{7} Hmf 22|=%| &elsich, T
21 | sma8-11: R.1.5 Alarm 2= mjf EFO|H Alarm 2= $}H of, Eto|m7t R[m S2[=X| Stelsict. T
22 | sma8-10 : R.1.5 TimeKeeping 2=2! [ Eto|of TimeKeeping 2E 31312 o, EtOIM7| Mo S21=X| Zolsic}, T
23 | smag-1:R.0.0 NZHEH AlZto| H4=o 2 1£0ICH IE0IE S|EX] elict, T
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| Team 8 Brute Force Test
Failed Case

11

smaB-20 : R.6.0 Alarm 2E &H2 o, modeSelect 12 Alarm 2E &lHY uf, modeSelectZ H|CHZ FIQ5H=X| &2l

> Alarm 2E 3HO|A modeSelect EEZ RlQlst &= QiCt
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Team 7 overall

Team 8 overall
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1st System Test Result

> Category-partition Test

162/209 x 100 = 77.5% PASS

> Pairwise Test

25/29 x 100 = 86.2% PASS

> Brute Force Test

9/20 x 100 = 45% PASS
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1st System Test Result

> Category-partition Test

81/95 x 100 = 85.26% PASS

> Pairwise Test

12/14 x 100 = 85.71% PASS

> Brute Force Test

22/23 x 100 = 96% PASS
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